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Candidates must write the Code on
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e Please check that this question paper contains 12 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 12 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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Instructions :

Wug: <h

Section A

Wis: @

Section B :

Wug: 7

Section C :

Wus: ¥

Section D :

49

FHATHIE G TGN, FHa—19 ARG |

58T G 7 &1, 81 TH Fe1 & IR Fepa 4 & o |

Answer all questions in Sanskrit, unless instructions are given otherwise.
371 9793 TR GUET: i |

57 JvT-TT AR @IS & |

There are four sections in this question paper.

JTafedre — TEEIgy (fSarT — saaiad) 15 3TEHT:

(Unseen Reading Comprehension)

GEhA TG (THhd H ToHTH oiE) 15 3TghT:

(Writing Skills in Sanskrit)

qfedTe — STaEIY HEhaET g Th=d: = 40 + 10 = 50 HAH:
(ITSTATRT — TR Td HEhd Hilged qHad)
(Reading Comprehension & Introduction to

History of Sanskrit Literature)

TRISAT: (T¢ T HAFR) 20 AGH:
(Metres and Figures of Speech)
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@US: & (Section A) 15 STGHI:
rufedre — sEateT
JASAT — ST

Unseen Reading Comprehension

HfARGTH FAT=eg TS TG TR H&h I |

frferiaa qFt 3TT=eal bl Tgeht U TTT e 3 I Hehd | GIRT |

Read the following two passages and answer the given questions in Sanskrit.

(%) woH: T

T oA DR -UTUSIAHEN TEITRA T Jg, TRAHTUTY 3T, el 3T:

TaTgd Tl e aq vergd = arya:, frEnfi Teeme wfs, 3 ' g saen:
gfesafed | 3 o At Igrg forfa: gemar | ggufu 7 dy @ Jedisyed |
ST EWEd e fted Aipwn W wdemwEd ufd 9q wRed
GBI UG Gee, | 3 3Iuee: To HfAgwreg Mar werd | 319 fg
HERAR 3IYA: | SO Yo WV 3TRT: 3TATG: SUAWId | e S
T TewHe qa |

TRAT:
(31) TehdeAHd | YVx2=1

Teh 3G H IR ST |
Answer in one word.
(i) : oATgA difaraam 7
(i) : IGIg foXa: @ema: ?

(&) olaTRFRRA | 2
oot areRT | 3T T |
Answer in a complete sentence.

(|)  FATHCIHT | Yax4=2
e I G |
Answer as directed.
(1) ‘W:W:’W“W:”Sﬁmmgﬂqﬁq?
(i) gee:’ 3 Foh Ty o ygay ¢
(iii) ‘e 3fd Toramaes shque fory 2
(iv) ‘T’ S foh faeTmTeies ueq 3 ey ?
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49

(@) fedta: srgee:
Ie7 gqfd wHe: A Gae 9Ye=T: ded doausl g THS e | g
qrad A ISfd: VI, 0 = WX qih: | EgYE IWRG F: 3RS ol
THET TIFT 314 TIH Tesfd @, 7 & usfen e 7= fem: smfg | w)
I I FHivgETn friee faa™ 97 J6 a9 e e famesreng 9 -
wATsh 1Y THE: | daoyfd THee e IRl g fom™ Tehien e fame:
WS T o SHITEHRAT T GO, | T GATgRN S Adaey
AT | 3@ T TESEHe ATEd &0 = $d e TaHEREE 3T

SUTSHTHN | Tdcd 1ol 9g ferzere Trefardl: Fétacy ferenfi: |
TRAT:

(31)

(=)

(%)

()

TR |

Th 1eg, H 3T T |

Answer in one word.

(i) T RN el e ?
(ii) IR gha: < aReeT ?

oot areRr | I €T |
Answer in a complete sentence.

BIEIEESEDRIE q’aﬁéﬂ_@'—d efygar: ?

FTHEIIIA |

FYTHCH I R |

Answer as directed.

() “Tesfa @’ 3fy SR wque oy 7
(i) rem seae fooor fop 7

(i) ST oI T fob qTIey 3 ey ?
(iv) T 3fd FeAHIE FHE T ?

3T TSR Tl ST Ik TEp T |
36 IFeRE o (7T U Sfivieh weepal H ferfae |

Write a suitable title for this passage in Sanskrit.

4

1x2=2

1x4=4

cn



49

@Us: @ (Section B) 15 3Agh:
HEhA TETHSHAGT,

HEhd & T TEH
Writing Skills in Sanskrit

HSIIA: SfercHgehd ] Tarcdl ALfARedl sher qufredn 47: forerd | 1x10=10
Hoo[T & 3fad Hehd oieht FHITeTRad e ohl quieht 9H: fetfl |

Complete and rewrite the following story, with the help of the words given in the box

below.

AT

90 oG TGy O et dega: gy | @ e ety e, Ay
T T -fRrgfi: ) T e i A Ty @ sty Ty e
TG SO TR A (o) | GG WA e ke (o O

Mo | R G (yjjp) @M T G,y AR | A ¥4 3

T el = |t | o FHTT e G <hied AT, hee ST 0 %% |

RS\l
Te", Meaiide, aL:, Ushal, 3T9mEd, |l | §dT,
foretierr, armeftq, |y |

Hos[uTd: qeT e aeef:” 3f fawen stftehe vsa amerRnt= Teahad fore | 1x5=5
TS § Ug AR Tl 39 e W uie a7 w6ha | feifaw |
Write five sentences in Sanskrit describing “TedTfd:” with the help of the words given

in the box below.
Tt

l:i—rl-&‘f:, %a-u m W’ W’ %Wﬁuﬁ’ wﬁ:’
BTIeRTIERT, TS, Shie:, gaM™, 3TRIE, R:, Jafiar |
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@Us: T (Section C) 40 + 10 = 50 AghI:
ST - S8 pauTigere aied: 9
TfSAT - IS T H&ehd Hifeed TR

Reading Comprehension & Introduction to History of Sanskrit Literature

FYIARGT TG, AT, ATCAT = FSea T&d T FERhd-RA |
FrfeTiaa aea e qei AT i et fGu 1T ST < ITR §&hd | 4T |

Read the following verse, prose and drama passages and answer the given questions
in Sanskrit.

(%) &
STuiH=hargson
HITTLS HIA To |
FTECTAT FFHITAT
AT AT ||
34T :
(37) ThYeA | Yx2=1
Teh Ug U I GRT |
Answer in one word.
(i) o: Pl fed ?
(i) <hIge T AT AT ?
(9) YUEERARR | 2
oot areRr | I €T |
Answer in a complete sentence.
TS Higered T Tosfa 7
(d)  FATHCITA | 1x2=2
JATHCH I ST |

Answer as directed.

(i) ‘A= SoIe T foh uatadeq 3 wwy ?
(i) ‘g’ s ob foudiadey 3 yg&m ?
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(@) T

Q)

‘e i Tg TR HR: Sfeister sfa e sttt igelt Wt ameiee | 3E
ATt wepTeT-1q HedT SHREU TRSHHHETER U 39 = - Fuem safadisyey |
vl T T WEEd — “STURRSEH A1 @Hevd, fhq’ gead |
IR T TR |7
=T
(31) THICHRAA | Vix2=1
Teh 31eg H I AT |
Answer in one word.
(i) o1 I 3FEd ?
(ii) & : vfaE: ?
(§) YorETERAR: | 2
oot areRT | 3T T |
Answer in a complete sentence.
forretl wepTerrd 318 fopmef yafera: @
(F)  FATHEA | 1x2=2
AT 3T AT |
Answer as directed.
(i) ‘fer sore T faetmuey o sy 7
(i) ‘T’ gt foh vITIuey 3 Y& ¢

RICSLNE

g — PAR | FEUR | IAWEISTE 3fd HIST Al SHUCIAR,
TISTRYATSEA: T TeI&hieha: |

@ — IAISTE’ 3T AW YHETETR ek 9 93Ad, T SId higH ?

Fed: — 3T AT —
TYETeS dgid faqd o= g Iwey e ¥ wafd, gues I @i
g | IS, iR SepfcvsShHEEE, fh SEEsStd, |
QTR A 1]

T

() THUGRRA | Vix2=1
T 315G H I SN |

Answer in one word.

(i) wgfi: fo yeaaficper: 7

(i) : QLI ?
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(&) qolaTeRFRRA |
oot areRr | I €T |
Answer in a complete sentence.
F2¥: STvaey HIge U Telh Had ?
(@) I |
FTeE W G |
Answer as directed.
(i) wwsia’ gore Ty fob walaers S, ?
(i) ‘Tohen s foh Tt e S 7

eI At fored |

Sregi o1 310t A firet ot farfRaw |

Match the words with their meanings and rewrite the same.
IeqT: YT:

(31) Ulgarm, (i) HITCTTeTt

(¥) wHeammufEst (i) EERE

(@) wefEr (iii) O

(3) wrdt (iv) GRUTATH

TETTghATET ST JEHT Hed |

T@TfEehd Ug) o YR W Ie4 f3mir i |

Frame questions on the basis of the underlined words.
(i) | 3ryeTeey: |t yEATehi Ffuda: |

(i) 38 SHHAITT el 31d FaT: Tsiifersa |

(iii) =Teeh: I AL |

(iv) TRt = qesy reds: fawy |

1x2=2

Vax4=2

1x4=4
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FefrRgamane: femeamgfd AeseTIeasRda $ed ; Yax12=6
frAferfaa gt wranert # weo # fou v wrsgi <t werrar @ e werHi i gfid hifv
Fill in the blanks in the following two explanations with the help of the words given
in the box :
(31) 3TgAT T d AR 32 THETET: |

ared SeniirTest=i A < aTeag SH: 1|
reef:

3Tfﬁ:|:[ @A) P m: (ii) FEANE] (iif) 'a'f"ld, i (iv) q

Sfra: mﬁﬁém ) RINICE (vi) |
@) I IgreRld AT I : |

T AT Fod AThEiedadd |

e

AP () SR AG ESAM gy e hd ST Walq | HSAT:

WOQQSU; (iii) ﬁmﬁq\ﬂgﬁﬁ | (iv) aﬁﬂﬁ%@qaﬁ—f\ﬁaﬁ

) @JQ,H&WHT@W |
HoA
TR, Tar, g, $af=d, W, g, ok, g,
AT, THIUTEUYT, T, STIEN: |

Frenferfada: venea: T fereeryfd $ed | VX 6=3

Freaferfiaa Qi veir 3 s 3 fore ol <61 9f i |
Fill in the blanks in the following prose-order-renderings of the two verses.
(31) Fatog wAiT fstfod=sd g : |

Td @ ALAIsiEd 7w forerd |

HA<Y:

K @A) 3701'1\@ (ii) HHT: iz_ﬂd”éaa\ | It od: AT (iii)
A, & A R 7T fewrd 1)
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(®)

e T AATaE TSH | T ez IS |
T AU g8: Shedd et e aftET ||
JHY:

TS | W A Ay e | @ T S A s | gd qdfd

(ii) _g_"@: HATALTTT (iii) Y FHeud ?

Efellifié-? qaid |
?194”5153 I éll\aQ |
Answer as directed.

(31) e foramae = faga |

(®)

(#)

Q)

&l Td fohamag g |

Select the subject and the verb.

(i)  TTeefRumef SRaqfTST: Sicd: TS |

(i)  3gusvRE: e 3w 9 7 ' |

fereryorag o |

ferzromye 9w |

Select the adjective.

T FEUE ST I AT |

srenferRaaugen: TETgfhaaa-TITe h1e Y ?

frferfaa dfeaat o w@ifera deqm ug fohen foTe s & 2

In the following lines for whom are the underlines pronouns are used ?
(i)  TershwTehi T 215t <hUIfdl | o SA1SE coiTH SATETaH |

(i) ST AT qE o HeE: iR Ry |
Fenferfaauglaayat " aun Ter sfd ge: gamTes ue fadar foraa |
freferfiga dfeaei & @ 93 U1 TIu 34 Ui o AU Ug g Al |

Select and write the synonyms of ‘43" and ‘TEUT’ from the following lines.

(i) ChISHHTS e derid |
(i) TclThehe & CIhUSHATS: |
%: & HYATT ?

SHfFAFE @S 7

Who is saying to whom ?

() o e S O geat gEEmuy e |
(i) fafemafeqeransfiaadsmes 1 TeargueemiET |

10

“x4=2

1x2=2

1x2=2

1x2=2

“x4=2
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(37)

(®)

(37)

(®)

(#)

()

ANTARITTGHRHT HET: U TeheT: WA 9 for@q |
TFrafaiRaa orgent <t fopeft oY Wb T o1 A foiRaw |

Write the name of any one work of each of the following poets.

ﬂmﬁgﬂ@ﬁgGWquaﬁﬁa@,iEﬁ%ﬂ—ﬂgaﬁﬂ
ANARGITEAT Fgh T AT forEq |
Trafafaa w1t o ogeht o AW fafEu |

Write the name of the authors of the following works.

1x5=5

1x5=5

@US: ¥ (Section D) 10 + 10 = 20 3TSH:

B¢ Y 3AHclghi
Metres and Figures of Speech
I 3T |
eI % I G |
Answer the questions.
(i) TR 3 T -l TRfE et ?
(i) ‘STHTRY 3T HIT0T: ?
SYNARGAT T T |
Frtferfar RIS 1 ot IR |
Complete the following definitions.
(i) Sdrgewe™_ |
(i) FEEEE |
(iii) #eEREISAE |
(v) @wsfemr |
Feferiaqugaa: fh o &= ?
frafafgd ufeqei # S-SR AT B8 ?
What is the meter in the following lines ?
(i)  oTecgawn fefd qadren fermern am e |
(i) "raf=rarEta TR fgam |
SANfriga: e B<g: Ieew foagd |
frafafaa 9 9 fordt wes B¢ o1 3eTet fafan
Write the example of any one of the following meters :

()  IHEY (ii) HeTshI |

11

1x2=2

1x4=4

1x2=2

1x2=2
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12, (37) fAIRGTN: FRAFIHE IQTASHIE HIGTE0T Aequi fofed | 3
frrferRaa o @ forell e wrsaTeTgehR 1 Higreor @ fefa |
Write the example and definition of any one of the figures of speech.
(1) srgom: (ii) Iy
() HANTARIT HeTHH SFTATAGHR AU IeTeW = forerd | 3
frfofiad 1§ & foret wh sruterger =1 @i wd 3erew faflen |

Define and illustrate any one of the figures of speech :
(i) 39T (ii) A== |
(@) Fnffiaquge: segHr iy | 1x2=2
frferfiaa ufeat o sterger 1 féw Hif |
Indicate the figure of speech in the following lines.
() TEdIe: Wesiehd 371 WHITHSHM |
(ii)  SfeRTfer rpdfuvehi SATHHTH |
() STECTUNRHTIIEE TIq | 1x2=2
frferfaa St aftmatt w6t gt Hife |
Complete the following definitions of the two figures of speech.
() Peg@swesm
(i) dCEIHAVG I |
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